Nombres Décimaux (B)

Trouvez chaque différence.

67,878 - 8,0147 = 5091,8 - 820,78 =
97063 - 0,6982 = 0,94981 - 0,51616 =
46,065 - 0,91554 = 61,627 -0,16611 =
91438 - 979,97 = 8441,5 - 402,31 =
8,4454 - 0,73866 = 70358 - 53,684 =
364,38 - 83,764 = 26037 -5,9012 =
49814 - 576,42 = 0,98711 - 0,92798 =
91510 -9,2801 = 23570 - 85,086 =
336,5-43,222 = 52094 - 0,6433 =
275,8 -45,741 = 51,879 - 0,63539 =
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Nombres Décimaux (B) Solutions

Trouvez chaque différence.

67,878 - 8,0147 = 59,8633

97063 - 0,6982 =97062,3018

46,065 - 0,91554 = 45,14946

91438 - 979,97 = 90458,03

8,4454 - 0,73866 = 7,70674

364,38 - 83,764 = 280,616

49814 - 576,42 = 49237,58

91510 - 9,2801 =91500,7199

336,5 - 43,222 = 293,278

275,8 - 45,741 = 230,059

5091,8 - 820,78 =4271,02

0,94981 - 0,51616 = 0,43365

61,627 -0,16611 = 61,46089

8441,5 - 402,31 = 8039,19

70358 - 53,684 = 70304,316

26037 -5,9012 =26031,0988

0,98711 - 0,92798 = 0,05913

23570 - 85,086 = 23484,914

52094 - 0,6433 = 52093,3567

51,879 - 0,63539 = 51,24361
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